

NUI Companies.
Lity Gas Company of Florida
EV/aberthown Gas Company
Eleton Gas Service.
Platorial Gas Services. Inc.
Inc. Askartina Gas Services. Inc.
Inc. Askartina Gas Services. Inc.
USAN Mach/Thomas Inc.
USAN Berrica

One Elizabethtown Plaza PO Box 3175 Union New Jersey 07083-1975 Tel (908) 289-5000

Via Federal Express

July 17, 1997

Ms. Blanca Bayo, Director Division of Records and Reporting Florida Public Service Commission 2540 Shummard Oak Blvd. Tallahassee, FL 32399-0868

EPSC-BUREAU OF HELDING

Re: Docket No. 970003-GU, Purchased Gas Adjustment Cost Recovery

Dear Ms. Bayo:

Enclosed for filing are the original and 10 copies of City Gas Company of Florida's purchased gas adjustment filing for the month of June 1997 and request for specified confidential treatment of portions of such information. The request is made pursuant to Section 366.093, Florida Statutes, for the reasons detailed in the document entitled "City Gas Company of Florida's Request for Specified Confidential Treatment," which document was filed under separate cover (copy enclosed). The sensitive information contained in these forms has been highlighted or computer shaded.

Please acknowledge receipt a	and filing of the above by stamping the duplicate copy of theme.
\	ce in connection with this matter.
	Very truly yours
· · · · · · · · · · · · · · · · · · ·	Ald Than
Committee of the second	Raymond A. DeMoine
	Director, Rates and
	Regulatory Affairs
RAD:mab	
Encl.	
Carpes A A	

97238 JUL 185

BLUCHT IL

UPIGHVAL EXLE COPY

BEFORE THE FLORIDA PUBLIC SERVICE COMMISSION

In re: Purchased Gas)	Docket No.	970003-GU
Adjustment Cost Recovery)	Filed:	July 17, 1997
)		

CITY GAS COMPANY OF FLORIDA REQUEST FOR SPECIFIED CONFIDENTIAL TREATMENT

City Gas Company of Florida ("City Gas" or "the Company"), pursuant to section 366.093, Florida Statutes, submits the following Request for Specified Confidential Treatment of portions of its Purchased Gas Adjustment (PGA) filing for the month of June 1997. In support thereof, City Gas states:

- City Gas' PGA filing for the month of June 1997 consists of Schedule A-1.
 A-1R, A-1 Supporting Details, A-2, A-3, A-4, A-5, A-6 and purchased gas invoices for the month of June 1997. The confidential version of City Gas' filing for the month is submitted in a sealed envelope concurrently with this request.
- Attached hereto as Exhibit "A" is a detailed justification for the requested confidential treatment of the highlighted portions of City Gas' filing for Schedules A-3 and A-4 and purchased gas invoices.
- The material for which confidential classification is sought is intended to be and is treated by City Gas as proprietary and has not been publicly disclosed.
- City Gas requests that the information for which it seeks confidential
 classification not be declassified for a period of eighteen months as provided in section

366.093 (4), Florida Statutes. The time period requested is necessary to allow City Gas to negotiate future gas purchase contracts with suppliers/competitors (and other customers having access to information which would adversely affect the ability of the Company to negotiate such future contracts) on favorable terms.

Wherefore, City Gas Company of Florida respectfully requests the Commission grant its petition for Specified Confidential Treatment of the information identified in Exhibit "A."

Dated this July 17, 1997

City Gas Company of Florida A Division of NUI Corporation One Elizabethtown Plaza Union, NJ 97082-1975

Raymond A. DeMoine

Director, Rates & Regulatory Affairs

c:winword.confmar.doc

EXHIBIT "A" CITY GAS COMPANY OF FLORIDA Data Elements for the June 1997 PGA for which Confidential Treatment is Requested Columns Justification (See Page Lines Schedule Number, or "Notes" Below) Other Identifier 2-8 A-K (1) A-3 A. C. D. E. F. G. H (2) 6 1-11 A-4 Oth.Supp. (3) 9-11 Summary of Gas Invoices B1 - B9 n/a Gas Invoices none none All (3) B10-B31 All (3) C1 All All

c:winword.confinar.doc

Notes To Exhibit "A" Regarding Justification:

- (1) Schedule A-3, System End Use, identifies the Company's gas suppliers, as well as the price and volume of gas that the Company purchased for the month. As explained above, public knowledge of this information "would impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.
- (2) The information contained within Schedule A-4, Transportation System Supply, represents negotiated gas supply packages purchased from vendors. These prices vary according to the operational flexibility of each contract. Release of any information therein would be detrimental to the interests of the Company and its customers since it would provide competitors with a list of City Gas's suppliers, volumes purchased and costs by gas supply source. As described above, publication of this information "would impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.
- (3) The third-party gas invoices attached represent negotiated gas-supply packages and contain data that must be kept confidential according to contractual terms between the Company and individual suppliers. Furthermore, as explained in paragraphs 1 and 2 above, release of any information such as the supplier's identity, or price and quantity of gas purchased may "impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.

It is necessary to keep the whole invoice confidential as any person familiar with the format, fonts and/or type sizes that each gas supplier uses in constructing respective invoices can easily determine their identity. Alternatively, the following information should be made confidential: the supplier's identity, address and phone number; length of the contract, invoice date, invoice number, contract number, customer identification number, description of service, average daily therm usage, name, address and phone number of contact person, points of gas receipt and delivery, transaction date, rate codes, base rates, surcharges and discounts, volumes and payment due. Release of such information may lead suppliers to fix prices at inflated levels and as a consequence, ratepayers may pay higher gas costs.

In conjunction with the Gas Invoices, City Gas files a Schedule that summarizes all gas invoices and imbalance dispositions. This schedule is intended to facilitate the Commission's review of the filing. City Gas will continue to provide this schedule and requests confidential classification for the entire summary document.

COMPANY:

COMPARISON OF ACTUAL VERSUS ORIGINAL ESTIMATE

OF THE PURCHASED GAS ADJUSTMENT COST RECOVERY FACTOR

SCHEDULE A-1 (REVISED 6/08/94)

CITY GAS COMPANY OF PLORIDA

ED 6/08/94)

ESTIMATED FOR THE PERIOD OF:		APRIL 97		MARCH 98				AGE 1 OF
	CURRENT MOI	(TH: 6/97	DIFFEREN	CE	PERIOD 1	TO DATE	DIFFER	INCE
COST OF GAS PURCHASED	(A) ACTUAL	(B) ORG. EST.	(C)	(D)	(E) ACTUAL	(F) ORG. EST.	(G) XMOUNT	(H)
1 COMMODITY (Pipeline) Includes No Notice Commodity Adjustment (Line 8 A-1 support detail)	27 644	47.284	(19.440)	(41 11)	96.709	143.284	(45.575)	(32.5
2 NO NOTICE SERVICE RESERVATION (Line 29 A-1 support detail)	9.349	11 061	(1.732)	115 631	29 344	37 307	(7.963)	(21.3
3 SWING SERVICE (Line 16 A-1 support detail)	- 3	24			1000		100	100
4 COMMODITY (Other) Line 24 All support detail)	1 433 870	1 563 536	(129 666)	(8.29)	3.685 220	5 024 712	1 339 492)	26.6
5 DEMAND (Line 32 - 29 A-1 support detail)	692 245	842.754	(150,509)	(17.86)	2.692.369	2 807 050	(114 681)	(4.0
6 OTHER (Line 40 A-1 support detail)	5 129	5 201	(72)	(1.38)	15 701	18.824	(3.123)	(16.5
ESS END-USE CONTRACT				0.000		70.044	(3,143)	110
7. COMMCDITY (Pipeline)								
e DEMAND	100	N 55	8 1	8.4	0.0			
9					20.7	101		
10. Second Prior Moreh Purchase Adj. (OPTIONAL)			_ 1					
11 TOTAL COS (1+2+3+4+5+6+10)-(7+6+9)	2 168 437	2 469 856	(301 419)	142.20	5,519,343	5 004 477		
12 NET UNBILLED	2 100 437	2,409,000	(301,419)	(12.20)	0,319,343	8.031,177	(1.511.834)	(18 8
13 COMPANY USE	of 6000	e nem					1	
14 TOTAL THERM SALES	(5,868)	(5,969)	101	(1.70)	(16,566)	(19, 198)	612	(3
THERMS PURCHASED	3 115 943	2,463,867	652 056	26.46	9.015.836	8.011,979	1,003,857	12:
	12 222 222		4 554 355			-		
15 COMMODITY (Pipeline) Billing Determinants Only (Line 6 A-1 support detail)	12,092,920	6,197,131	5,895,789	95 14	34,076,060	18,778,973	15,297,107	81
16 NO NOTICE SERVICE RESERVATION Bill Determinants Only (Line 29 A-1 support detail)	1,125,000	1,125,000			3,787,500	3,787,500		- 2
17 SWING SERVICE Commodity	22200000		Variation !	3	research and			
18 COMMODITY (Other) Commodity (Line 24 A-1 support detail)	5,791,718	6,197,131	(405 413)	(6.54)	16,359,442	18,778,973	(2,419.531)	(12
19 DEMAND Billing Determinants Only (Line 32-29 A-1 support detail)	9,352,910	12,923,700	(3.570.790)	(27 63)	36, 393, 730	42,275,990	(3,682,260)	1.3
20 OTHER Commodity (Line 40 A-1 support detail)	9,979	9,633	146	1 48	30,549	34,685	[4,136]	(22
ESS END-USE CONTRACT								
21 COMMODITY (Pipeline)			3 1			- 80		53
22 DEMAND	- 3		3 1			- 50	1.5	1.0
23								
24 TOTAL PURCHASES (17+18+20)-(21+23)	5,801,697	6,206,964	(405, 267)	(6.53)	16,369,901	18,813,658	(2,423,667)	(12
25 NET UNBILLED				100			100	
26 COMPANY USE	(13,022)	(15,000)	1,978	(13.19)	(41,248)	(45,000)	3,752	(8
27 TOTAL THERM SALES (24-26 Estimated only)	6,134,024	6,191,964	(57,940)	(0.94)	18,410,070	18,768,658	(356.566)	(1
CENTS PER THERM						***************************************	the state of the s	
28 COMMODITY (Pipeline) (1/15)	0.00230	0 00763	(0.00533)	(69.86)	0.00284	0.00763	(0.00479)	(62
29 NO NOTICE SERVICE (2/16)	0.00831	0 00985	(0.00154)	(15.63)	0.00775	0.00985	(0.00210)	(21
30 SWING SERVICE (3/17)								
31 COMMODITY (Other) (4/18)	0.24757	0.25230	(0.00473)	(1.87)	0.22527	0.26757	(0.04230)	(15
32 DEMAND (5/19)	0.07401	0.06521	0.00880	13.49	0.07013	0.06640	0.00373	
33 OTHER (6/20)	0.51398	0.52893	(0.01495)	(2.83)	0.51396	0.54271	(0.02875)	c
ESS END-USE CONTRACT	07.000		3,000	12.00		0.51471	(0.040.0)	. 10
34 COMMODITY Pipeline (7/21)					10.0		23	
35 DEMAND (8/22)				-				
36 (9/23)		-	1	157		1 1		
37 TOTAL COST (11/24)	0.37376	0.39792	(0.02416)	(6.07)	0.39770	0.42688	0.00047	
38 NET UNBILLED (12/25)	23/3/0	0.301.82	(0.02410)	(0.01)	0.30770	72277377	(0.02912)	(€
39 COMPANY USE (13/26)	0.45059	0.39793	0.05266	13.23	0.45050	0.43000	0.00000	
40 TOTAL THERM SALES (11/27)	971100000		A	100000	0.45059	0 42662	0.02397	
	0.35351	0.39888	(0.04537)	(11 37)	0.35412	0.42790	(0.07376)	(3)
	0.05753	0.05753		191	0.05753	0.05753		
42 TOTAL COST OF GAS (40+41)	0 41104	0.45641	(0 04537)	(9 94)	0 41165	0 48543	(0.07378)	(3)
43 REVENUE TAX FACTOR	1 00376	1 00376	1	100	1 00376	1 00376		
44 PGA FACTOR ADJUSTED FOR TAXES (42x43)	0.41259	0.45813	(0.04554)	(3.94)	0 41320	0 48726	(0.07405)	{7
45 PGA FACTOR ROUNDED TO NEAREST 001	0.413	0.458	(0 045)	(9.83)	0.413	0.487	(0.074)	(1

COMPANY: COMPARISON OF ACTUAL VERSUS FLEX-DOWN ESTIMATE SCHEDULE A-1/R CITY GAS COMPANY OF PLOPIDA OF THE PURCHASED GAS ADJUSTMENT COST RECOVERY FACTOR (REVISED 6/08/94) ESTIMATED FOR THE PERIOD OF APRIL 97 Through MARCH SS (Plex Down) PAGE 2 OF 11 CURRENT MONTH: 6/97 DIFFERENCE PERIOD TO DATE DIFFERENCE (D) (E) (F) (CD) Deta PLEX DOWN COST OF GAS PURCHASED ACTUAL ESTIMATE AMOUNT ACTUAL ORG. EST. ABIOUNT 1 COMMODITY (Pipeline) If cludes No Notice Commodity Adjustment. (Line 6.A-1 support detail) 27.644 49 247 (21:403) 149 382 143 46 98.709 (52 673) (35.26) 2 NO NOTICE SERVICE RESERVATION (Line 29 A-1 support detail) 9.349 18 721 (9.372) (50.06) 29 344 56 787 (27, 443) (48 33) 3 SWING SERVICE (Line 16 A-1 support detail) 4 COMMODITY (Other) (Line 24 A.1 support detail) 1 433 870 1.677.722 (243.852) (14.53)3 685 220 5 099 090 (1.403.670) 127.40 5 DEMAND (Line 32 - 29 A-1 support detail) 692 245 1 155 481 (463, 236) 40.09 2 692 369 3 504 959 (812.590) (23.16) 6 OTHER Line 40 A-1 support detail) 5 129 4 879 5 12 250 15.701 14.799 902 6.10 LESS END-USE CONTRACT 7 COMMODITY (Pipeline) 8 DEMAND 10 Second Pror Month Purchase Adj. (OPTIONAL) 11 TOTAL COS (1+2+3+4+5+6+10)-(7+6+9) 2,168,437 2,906,050 (737 613) 6.519.343 8 815 017 (25.38)(2.295, 674) (26 04) 12 NET UNBILLED 13 COMPANY USE (5.868) (6.614) 746 (11.29) (18 586) (20.062) 1:476 (7.36) 14 TOTAL THERM SALES 3 115 943 2 899 435 216.507 7.47 9 015 836 8.794.957 220 879 2.51 THERMS PURCHASED 15 COMMOCITY (Pipeline) Billing Determinants Only (Line 8 A-1 support detail) 12 092 920 6 454 384 5 638 536 87.36 34 076 080 19 578 298 14 497 782 74.05 16 NO NOTICE SERVICE RESERVATION Bill Determinants Only (Line 29 A-1 support detail) 1.125 000 1,900,644 (775.544)(40 81) 3.787.500 5,765,267 (1.977.787) (34.31) 17 SWING SERVICE 18 COMMODITY (Other) Commodt (Line 24 A-1 support detail) 5 791 718 6 454 364 (662 666) (10.27)16.359 442 19.578.298 (3.218.856) (16.44) 19 DEMAND Billing Determinants Only (Line 32-29 A-1 support detail) 9.352 910 17 733 973 (8.381.063) (47.26) 38 393 730 53,793,052 (15.399.322 (28 63) 20 OTHER 9.979 Commodit (Line 40 A-1 support detail) 9.923 56 0.56 30.549 30,100 440 1.49 LESS END-USE CONTRACT 21 COMMODITY (Pipeline) 22 DEMAND × . 23 24 TOTAL PURCHASES (17+18+20)-(21+23) 5.801.697 6.464.307 (662,610) (10.25) 16.369.991 19 608 398 (3.218.407) (16.41) 25 NET UNBILLED 26 COMPANY USE (13.022) (15,000) 1.975 (41 248) (45,000) 3.752 (8.34) 27 TOTAL THERM SALES (24-26 Estimated only) 6.134.024 6.449 307 (315.283) (4 89) 18,410,070 19.563.398 (1.153.328) (5.90)CENTS PER THERM 28 COMMODITY (Pipeline) (1/15) 0.00230 0.00763 (0.00533) (69.86) 0.00264 0.00763 (0.00479) (52.78) 29 NO NOTICE SERVICE (2/16) 0.00831 0.00985 (0.00154) (15 63) 0.00775 0.00985 (0.00210) (21.32) 30. SWING SERVICE (3/17)31 COMMODITY (Other) (4/18)0.24757 0.25994 (0.01237) (4.76)0.22527 0.25994 (0.03467) (13.34)32 DEMAND (5/19)0.07401 0.06516 0.00685 13.58 0.07013 0.06516 0.00497 7.63 33 OTHER (6/20) 0.51398 0.49169 0.02229 4.53 0.51396 0.49166 0.02230 4.54 LESS END-USE CONTRACT 34 COMMODITY Pipeline (7/21)35 DEMAND (8/22)-36 (9/23) 37 TOTAL COST (11/24)0.37376 0.44955 (0.07579) (16.86) 0.39776 0.44955 (0.05179) (11.52)36 NET UNBILLED (12/25) 39 COMPANY LISE (13/26) 0.45059 0.44093 0.00966 2 19 0.45059 0.44582 0.00477 1 07 40 TOTAL THERM SALES (11/27) 0.35351 0.45080 (0.09709) (21.55) 0.35412 0.45059 (0.09647) (21.41) 41 TRUE-LP (E-2) 0.05753 0.05753 0.05753 0.05753 42 TOTAL COST OF GAS (40+41)0.41104 0.50813 (0.09709) (19 11) 0.41165 0.50812 (0.09647 (18.99) 43 REVENUE TAX FACTOR 1 00376 1 00376 1 00376 1.00376 44 PGA FACTOR ADJUSTED FOR TAXES (42×43) 0.41259 0.51004 (0.09745) (19.11) 0.41320 0.51003 (0.09683) 718 991

0.413

0.510

(0.097)

(19:02)

0 413

0.510

(0.097

(19 02)

45 PGA FACTOR ROUNDED TO NEAREST 001

COMPANY:

CITY GAS COMPANY OF FLORIDA

PURCHASED GAS ADJUSTMENT

COST RECOVERY CLAUSE CALCULATION SCHEDULE A-1 SUPPORTING DETAIL

PAGE 3 OF 11

Olimobity (Pipeline)	CURRENT MONTH: 6/97	(A) THERMS	(8)	(C)
			INV. AMOUNT	COST PER THERM
[2] 시마이 (I) 20 10 (I) 10 10 10 10 10 10 10 10 10 10 10 10 10	(Line 1 Page 10)	12,153,240	27,920 76	0 00230
2 Commodity Pipeline - Scheduled ITS				
3 No Notice Co. modity Adjustment	arctinana nacon san			
1 3 7 3 3 4 1 4 1 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	(Line 2+3 Page 10)	(60.320)	(77 22)	
5 Commodity Adjustments		1		
6 Commodity Adjustments				
8 TOTAL COMMODITY (Pipeline)		12.092.920	27 843 54	0 00230
		Sched A-1 Ln 15	Sched A-1 Ln 1	Sched A-1 Ln 28
WING SERVICE				
9 Swing Service Scheduled				
10 Alert Day Volumes - FGT				
11 Operational Flow Order Volumes - FGT				
12 Less Alert Day Volumes Direct Billed to	Others			
13 Operating Account Balancing				
14 Other - Net market delivery imbalance				
15				
16 TOTAL SWING SERVICE		0	0.00	0.00
OMMODITY OTHER		Schedule A-1 Line 17	Schedule A-1 Line 3	Schedule A-1 Line 30
17 Commodity Other - Scheduled FTS	(Line 4 Page 10) , (Line 58 Page 10)	12 092 920	2 903 185 20	0.24007
18 Commodity Other - Scheduled ITS	(care 4 Fage 10); (care se Fage 10)	12,002,020	2,903,103.20	0.24007
19 Imbalance Cashout - FGT	(Line 14 Page 10)		0.00	
	(Line 24 Page 11)		(2,963,82)	
21 Imbalance Cashout - Transporting Cust.			(2,963.82)	
22 True-up - Other Shippers	(Line 46 Page 10)			
23 Less OSS, Margin Sharing, and Company			72,361 47	
24 TOTAL COMMODITY (Other)	Use (Lines 37+30+39 Page 11)	(6,301,202) 5.791.718	(1,538,712.77)	0.24757
24 TOTAL COMMODITY (CERS)		Schedule A-1 Line 18	Schedule A-1 Line 4	Schedule A-1 Line 31
DEMAND		OURSES AT LINE TO	SCHOOL AT LINE 4	SCHOOLS N-1 ENG 31
25 Demand (Pipeline) Entitlement	(Line 9 Page 10 Less: Line 26 and 29 Support Detail)	12,594,000	720,315.08	0.05720
26 Less Relinquished to End-Users	(Line 6+13 Page 9)	(3,241,090)	(41,014.18)	0.01265
27 Less Relinquished Off System	SELECTION OF THE SELECTION	1970/01/2000	Total Control	0000000
28 Other - Firm winter supply				
29 Demand - No Notice	(Line 19 Page 9)	1,125,000	9,348.75	0.0083
30 Revonue Sharing - FGT				
31 Other - Storage Demand	(Line 31 Page 11)		12,944.63	
32 TOTAL DEMAND		10,477,910	701,594	0.0669
		Sched A-1 Line 19+16	Sched A-1 Line 5+2	Sched A-1 Line 32 & 2
	Con 15 Dogs 15			0.000
33 Other - Monthly purchase from Peoples	Gas (Line 15 Page 10)	9,978.80	5,128.61	0.5139
33 Other - Monthly purchase from Peoples 34 Peak Shaving	Gas (Line 15 Page 10)	9,978.80	5,128.61	0.5139
33 Other - Monthly purchase from Peoples 34 Peak Shaving 35 Storage withdrawal	Gas (Line 15 Page 10)	9.978.80	5,128.61	0.5139
33 Other - Monthly purchase from Peoples 34 Peak Shaving 35 Storage withdrawal 36 Other	Gas (Line 15 Page 10)	9,978.80	5,128.61	0.5139
33 Other - Monthly purchase from Peoples 34 Peak Shaving 35 Storage withdrawal 36 Other 37 Other	Gas (Line 15 Page 10)	9,978.80	5,128.61	0.5139
33 Other - Monthly purchase from Peoples 34 Peak Shaving 35 Storage withdrawal 36 Other 37 Other 38 Other	Gas (Line 15 Page 10)	9,978.80	5,128.61	0.5139.
34 Peak Shaving 35 Storage withdrawal 36 Other 37 Other	Gas (Line 15 Page 10)	9,978.80	5,128.61 5,128.61	0.5139

COMPANY:

CALCULATION OF TRUE-UP AND INTEREST PROVISION

CITY GAS COMPANY OF FLORIDA

FOR THE PERIOD OF:

APRIL 97

Through

MARCH 98

SCHEDULE A-2 (REVISED 6/08/94)

PAGE 4 OF 11

The state of the s	CURRENT MON	NTH: 6/97	DIFFERENCE		PERIOD TO D	ATE	DIFFERE	NCE
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)
	ACTUAL	ESTIMATE	AMOUNT	%	ACTUAL	ESTIMATE	AMOUNT	%
RUE-UP CALCULATION								
1 PURCHASED GAS COST (Sch A-1 Flx down line 4+6)	1.438,999	1,682,601	243,602	14 48%	3,700,921	5,103,889	1,402,968	27.49%
2 TRANSP GAS COST (Sch A-1 Flx down line 1+2+3+5)	729,438	1,223,449	494,011	40.38%	2,818,422	3,711,128	892,706	24.05%
3 TOTAL	2,168,437	2,906,050	737,613	25.38%	6,519,343	8,815,017	2,295,674	26.04%
4 FUEL REVENUES (Sch A-1 Ftx down line 14) (NET OF REVENUE TAX)	3,115,943	2,899,436	(216,507)	-7.47%	9,015,836	8,794,957	(220,879)	-2.51%
5 TRUE-UP (COLLECTED) OR REFUNDED	(376,194)	(376,194)		0.00%	(1,128,582)	(1,128,582)		0.00%
6 FUEL REVENUE APPLICABLE TO PERIOD * (LINE 4 (+ or -) LINE 5)	2,739,749	2,523,242	(216,507)	-8.58%	7,887,254	7,666,375	(220,879)	-2.88%
7 TRUE-UP PROVISION - THIS PERIOD (LINE 6 - LINE 3)	571,312	(382,808)	(954,120)	249 24%	1,367,911	(1,148,642)	(2,516,553)	219.09%
8 INTEREST PROVISION-THIS PERIOD (21)	(4,328)	(8,624)	(4,296)	49.81%	(26,914)	(16,321)	10,593	-64.90%
9 BEGINNING OF PERIOD TRUE-UP AND INTEREST	(1,398,486)	(2,011,414)	(612,928)	30.47%	(2,924,887)	353,297	3,278,184	927.88%
9A ADJUST BEGINNING ESTIMATE		170,076	170,076	100.00%		(2,173,492)	(2,173,492)	100.00%
9B BEGINNING OF PERIOD TRUE-UP AND INTEREST	(1,398,486)	(1,841,338)	(442,852)	24.05%	(2,924,887)	(1,820,195)	1,104,692	-60.69%
10 TRUE-UP COLLECTED OR (REFUNDED) (REVERSE _F LINE 5)	376,194	376,194		0.00%	1,128,582	1,128,582		0.00%
10a Refund (if applicable)							. 1	_
10b Refund of interim rate increase								
11 TOTAL ESTIMATED/ACTUAL TRUE-UP (7+8+9+10+10a)	(455,308)	(1,856,576)	(1,401,268)	75.48%	(455,308)	(1,856,576)	(1,401,268)	75.48%
ITEREST PROVISION								
42 PECINING TOUE UP AND	14 200 425	44.044.000	1110.050		9192000000			

¹² BEGINNING TRUE-UP AND (442,852) (1,398,486) (1,841,338) INTEREST PROVISION (9) 13 ENDING TRUE-UP BEFORE (450.980)(1,847,952) (1,396,972)75.60% INTEREST (12 + 10a + 10b + 7 - 5) 14 TOTAL (12+13) (1,849,466) (3,689,290)(1,839,824)49.87% 15 AVERAGE (50% OF 14) (924,733)(1,844,645) (919,912) 49.87% 16 INTEREST RATE - FIRST 0.05600 0.05600 0.00% DAY OF MONTH 17 INTEREST RATE - FIRST 0.05620 0.05620 0.00% DAY OF SUBSEQUENT MONTH 18 TOTAL (16+17) 0.11220 0.11220 0.00% 19 AVERAGE (50% OF 18) 0.05610 0.05610 0.00% 20 MONTHLY AVERAGE (19/12 Months) 0.00468 0.00468 (0.000000)-0.11% 21 INTEREST PROVISION (15x20) (4.328)(8.624)(4,296)49.81%

^{24.05%} If line 5 is a refund add to line 4 If line 5 is a collection () subtract from line 4

OMPA!	ACTUAL FOR THE PERI PRESENT MONTH:		v.			ORTATION PO SUPPLY AND			MARCH 98		SCHEDULE A-3 (REVISED 8/19/93) PAGE 5 OF 11
	(A) PURCHASED	(B) PURCHASED	(C) SCH	(D) SYSTEM	(E) END	(F) TOTAL	COMMODITY (G)	(COST	(I) DEMAND	(J) OTHER CHARGES	(K)
ATE	FROM	FOR	TYPE	SUPPLY	USE	PURCHASED		PIPELINE	COST	ACAJGRIFUEL	PER THERM
97	FGT	sees announcesseem	FTS-1	A STATE OF THE PARTY OF THE PAR			We are a series and	31,321	688,650	27,844	_
ONE PARTY.											
TAL				12,574,520		12,574,520	2,903,185	31,321	688,650	27,844	29.03

	TRANSPORTAT	ION SYSTEM S	UPPLY			SCHEDULE A-	
FOR THE PE	RIOD GF:	6/01/97	Through	6/30/97		(REVISED 8/19/ PAGE 6 OF 11	93)
	MONTH: 6/97						
(A) PRODUCER/SUPPLIER	(B) RECEIPT POINT	(C) GROSS AMOUNT MMBtu/d	(D) NET AMOUNT MMBtw/d	(E) MONTHLY GROSS MMBtu	(F) MONTHLY NET MMBtu	(G) WELLHEAD PRICE \$/MMBtu	(H) CITYGATE PRICE (GXEVF
	Col Guiff CS-8 Col Guiff CS-8 CS-8 CS-8 Mops Citronelle Col Guiff CS-8 Col Guiff CS-11 CS-8 CS-8						(GAE)F
	TOTAL	99,640	96,300	1,257,452 WEIGHTED AVE	1,215,324 RAGE	2.2804	2.35

NOTE: CITY GATE PRICE SHOULD NOT INCLUDE FGT TRANSPORTATION CHARGES

Company: City Gas Company of			THERM SALE				0	REVISED 8/19/93
FOR TH	E PERIOD OF:			Through	MARCH 98			AGE 7 OF 11
	CURRENT MO		DIFFEREN		TOTAL THER	-	DIFFERE	NCE
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)
	ACTUAL	ESTIMATE	AMOUNT	%	ACTUAL	ESTIMATE	AMOUNT	%
THERM SALES (FIRM)								
1 RESIDENTIAL	1,456,519	1,720,454	263,935	18 12%	4,686,956	5,480,512	793,556	16.93%
2 COMMERCIAL	3,624,797	3,967,470	342,677	9 45%	10,738,964	11,745,556	1,006,592	9.37%
3 COMMERCIAL LARGE VOL 1			**	0.00%		- 20		0.00%
4 COMMERCIAL LARGE VOL 2				0.00%		(2)	8	0.00%
		:		0 00%	9 1	(9.5)	* 1	0.00%
				0.00%				0.00%
5 TOTAL FIRM	5,081,316	5,687,924	606,608	11.94%	15,425,920	17,226,068	1,800,148	11.67%
THERM SALES (INTERRUPTIBLE)							
6 INTERRUPTIBLE	218,545	504,040	285,495	130.63%	931,015	1,542,590	611,575	65.69%
7 LARGE INTERRUPTIBLE	834,163		(834,163)	-100 00%	2,053,135	200	(2,053,135)	-100.00%
8 TRANSPORTATION	1,922,263	1 12	(1,922,263)	-100.00%	6,253,087		(6,253,087)	-100.00%
9 TOTAL INTERRUPTIBLE	2,974,971	504.040	(2,470,931)	-83 06%	9,237,237	1.542.590	(7,694,647)	-83 30%
IO TOTAL THERM SALES	8.056.287	6.191.964	(1,864,323)	-23.14%	24.663.157	18.768.658	(5.894.499)	-23.90%
NUMBER OF CUSTOMERS (FIRM)				AVG. NO. OF	CUSTOMERS P	ERIOD TO DAT	E
1 RESIDENTIAL	92,397	96,456	4,059	4 39%	92,572	96,881	4.309	4.65%
2 COMMERCIAL	4.730	5.039	309	6.53%	4,726	5.006	280	5.92%
3 COMMERCIAL LARGE VOL. 1		0.745,752		0.00%				0.00%
4 COMMERCIAL LARGE VOL. 2				0.00%				0.00%
		-		0.00%			2	0.00%
				0.00%				0.00%
15 TOTAL FIRM	97,127	101,495	4.368	4.50%	97.298	101,887	4.589	4.72%
NUMBER OF CUSTOMERS (INTE		1.071.00	1,000				ERIOD TO DAT	
16 INTERRUPTIBLE	10	13	3	30.00%		13	2	18.18%
17 LARGE INTERRUPTIBLE	4	3	(1)	-25.00%	4	3	(1)	-25.00%
8 TRANSPORTATION	52		(52)	-100.00%	51		(51)	-100.00%
19 TOTAL INTERRUPTIBLE	66	16	(50)	-75.76%	66	16	(50)	-75.76%
0 TOTAL CUSTOMERS	97.193	101,511	4.318	4.44%	97.364	101.903	4.539	4.66%
THERM USE PER CUSTOMER	31,130	107,011	1 4,510	4,44.6	37,304	101,203	4,539	4.00%
1 RESIDENTIAL	16	18	2	13.15%	1 17	19	2.1	11.76%
22 COMMERCIAL	766	787	21	2.74%		782	2 25	
23 COMMERCIAL LARGE VOL. 1	700	15,700	1	0.00%	100,000	1077	۵	3.30%
24 COMMERCIAL LARGE VOL. 1				0.00%	10000		2.5	0.00%
	24.055	20 770	10017		PDiebber	20.55		0.00%
25 INTERRUPTIBLE	21,855	38,772	16,917	77.41%		39,554	11,341	40.20%
26 LARGE INTERRUPTIBLE	208,541		(208,541)	-100.00%	10.000		(171,095)	-100.00%
27 TRANSPORTATION	36,967		(36,967)	-100.00%	40,870		(40,870)	-100 00%

CITY GAS COMPANY OF FLORIDA ACTUAL FOR THE PERIOD OF: APRIL 97		SION FAC through		LCULAT	202014						(REVISED PAGE 8 OF	8/19/03)
	(A) APR	(B) MAY	(C) JUN	(D) JUL	(E) AUG	(F) SEP	(G) OCT	(H) NOV	(I) DEC	(J) NAL	(K) FEB	(L)
1 AVERAGE BTU CONTENT OF GAS PURCHASED							i					
THERMS PURCHASED * AVERAGE BTU CONTENT CCF PURCHASED	1.0480	1 0392	1 0422									
2 PRESSURE CORRECTION FACTOR												
a DELIVERY PRESSURE OF GAS SOLD paid	15.236	15.236	15 236	15.236	15.236	15 236	15 236	15.236	15.236	15.236	15.236	15.2
b DELIVERY PRESSURE OF GAS PURCHASED pain	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14
PRESSURE CORRECTION FACTOR (a/b) pais	1 0344	1.0344	1.0344	1.0344	1.0344	1.0344	1.0344	1 0344	1.0344	1.0344	1.0344	1.03
3 BILLING FACTOR												
BTU CONTENT x PRESSURE CORRECTION FACTOR	1.0840	1.0750	1.0780	0.0000	0.0000	0.0000	0.0000	0.0000	0.0000	0 0000	0.0000	0.00

Page 9 of 11

CITY GAS COMPANY OF FLORIDA Gas invoices for the month of 6/97

Actual RATE AMOUNT Checked: MCF THERMS FGT FTS - Contract 5034 Commodity costs 0.00287 22,991.43 Contract #5034 FTS 1 8.010.950 0.00119 4,929.33 4,142,290 Contract #3608, 5338, 5364, 5381 FTS 2 27,920.76 () 12,153,240 Total Firm: MEMO: FGT Fixed charges paid on 10th of month 0.04953 328.725.66 FTS-1 Demand - System supply Miami 6.636.900 (26,992.68)(2.119.370)Capacity release Treasure Coast 301,800 0.04953 14,948.15 7 System supply 88,425.91 System supply Brevard 1,785,300 0.04953 8 0.04953 0.00 9 Merritt Sq. 465,107,04 6,604,630 10 Total FTS-1 demand 11 0.08137 4,200,000 342,594.00 () Miami FTS-2 Demand - System supply (1,121,720)(14,021.50) FTS-2 Demand - Capacity release 0.00 14 328,572,50 3,078,280 15 Total FTS-2 demand 16 930,000 0.00831 7,728.30 No Notice Demand-System supply Miami 195,000 0.00831 1.620.45 18 Brevard 9.348.75 1,125,000 19 0.00 () Western Div. / IT Revenue Sharing Cr. 10,807,910 743,028.29 Total fixed charges OTHER SUPPLIERS: AMOUNT THERMS

CITY GAS COMPANY OF FLORIDA SUMMARY OF GAS SUPPLIERS - 6/97

	7.	Gross	Net	This me	onth		Invoice	Invoice	Invoice
	FGT -	billed	received	Payments	Accruals	Net Activity	Reference	due	paid
	OVERTENDERS / TRANSP. CUS	TOMERS							
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11		1							
12		1							
13		1						5	
14									
15	Total overtenders 6/97 -	0.00		0.00	0.00	0.00			
	BOOK-OUT TRANSACTIONS	+ -							
		The state of							
17									
18									
19									
20 21		-							
21		-							
22 23		+							_
24	Total book-outs 5/97 -	0.0		(2,963.82)	0.00	0.00			
=	STORAGE TRANSACTIONS								

FLORIDA GAS TRANSMISSION COMPANY
An EMRON/SORAT Affiliate

faxed 6/13/90 RK B

T 08/18/97
08/26/97
01CE NO. 17459
AL AMOUNT DUE \$3,045.57

CUSTOMER: NUI COMPONATION ATTN: MORENE NAVARNO CITY 6AS CO OF FLORIDA 550 NOUTE 202-206 BEDNINISTER, NJ 07921 PIL: reference this invoice no. on your remittanceand wire to: Mire Transfer Florida Eas Transmission Company Rations Bank; Dellas, TX Account & ABA &

ITRACT: 3608

08

SHIPPER: WUI COMPORATION

TYPE: FIRM TRANSPORTATION

CUSTOMER NO: 11420 DURS NO:56711344 PLEASE CONTACT GUEN LUSTER

AT (713)863-5127 WITH ABY QUESTIONS REGARDING THIS INVOICE OR CODE LIST

						THE RESIDENCE OF		PAST - PAST			
CE1PTS DAM	Ro .	POI NO.	RIES DRM Bo.	PROD MORTH	10	RC	EXZE	RATES	DISC BET	VOLUMES DTH DRY	
rge ,					10,771				1111	Old Dal	AMOURT
	make Foresof	16114	2987	05/97	A	COM	0.0144	(0.0025)	0.0119	2,823	11 4 547011 520-
rge y	BAA LOCKE	16116	2989	05/97	A	COM	0.0144	E 1975 COM 0470			\$24.07
rge	W. W. Winter H	16117	2999	F13760		35500	10102-514	(0.0025)	0.0119	7,113	\$84.64
rge	S.E. HINLIAH		U1000	05/97	A	COM	0.0144	(0.0025)	0.0119	9,261	\$110.21
rge		16118	3002	05/97	A	COM	0.0144	(0.0025)	0.0119	9,801	\$116.63
	west Miami	16122	3006	05/97	A	CON	0.0144	(0.0025)	0.0119	4,798	\$57.10
C	.GC- 5 W	16123	3008	05/97	A	CCA	0.0144	(0.0025)	0 6 . 9	1,355	\$39.92
rge	South Minmi	16124	2010	05/97	A	CEAN	0.0144	(0.0025)	0.0.19	4,576	
rge	Corbles Aid Ge	16125	3012	05/97	A	CDM	0.0144	(0.0025)			\$54.45
rge	Titusville	16177	2973	05/97	A	COM	100000000000000000000000000000000000000	1.0000000000000000000000000000000000000	0.0119	2,343	\$27.88
rge			1		3	634	0.0144	(0.0025)	0.0::9	5,294	\$63.00
rge	City Gas Cocoa	16178	2970	05/97	A	CCH	0.0144	(0.0025)	0.0_19	4,217	\$50.18
rge	EAU CHÉE ((0004)	16179	2968	05/97	A	COM	0.0144	(0.0025)	0.0119	2,618	\$31.15
•	Alcibovane.	16180	2971	05/97	A	COM	0.0144	(0.0025)	0.0119	1,545	\$18.39
'ge 7	1995 Citable Administra	16264	3190	05/97	A	CON	0.0144	(0.0025)	0.0119	4,460	\$53.07
Be	716 P.A. Madia No.	58912	109186	05/97	A	CON	0.0144	(0.0025)	0.0119	3,193	\$38.00
	1995 M. Marken WU.	58912	109186	05/97	A	CON	0.0144	(0.0025)	0.0119	113,471	\$1,350.30
	1851 P.A. Madin MD.	58912	109186	05/97	A	COM	0.0144	(0.0025)	0.0119	5,107	160.77
rga	M. St. Lucic	58921	109191	05/97	A	CON	0.0144	(0.0025)	0.0119	420	\$5.00
rga	City tops Rolling Audi	60606	123376	05/97	A	COM	0.0144	(0.0025)	0.0119	1,936	\$23.04
rge	KI Shows Gore Ribanh		135677	05/97	A	COM	0.0144			200	11 2000000
rge .			135677	1000-010	200.0	2000000	200.0000000	(0.0025)	0.0119	4,843	\$57.63
rge	1995 NISSMER COR Ester	J. 1231		05/97	A	COM	0.0144	(0.0025)	0.0119	24,372	\$290.03
	reas bout so -		204545	05/97	A	COM	0.0144	(0.0025)	0.0119	2,186	\$26.01
rge	7995	63052	222204	05/97	A	COM	0.0144	(0.0025)	0.0119	39,000	\$464.10

FLORIDA GAS TRANSMISSION COMPANY

Page 7 06/10/9/ Flease reference this involce no. on your remittance. and wire to: 06/20/97 CUSTOMER: MUI CORPORATION Mire Transfer ATTH: MORENE BAVARRO Florida Gas Transmission Company DICE NO. 17459 CITY SAS CO OF FLORIDA Rations Bank; Dallas, TI 550 ROUTE 202-206 Account # AL AMOUNT DUE \$3,045.57 BEDMINISTER, BJ 0792. ABA TRACT: 3608 SHIPPER: BUI CORPORATION CUSTOMER NO: 1:420 PLEASE CONTACT GHEN LUSTER AT (713)853-5127 WITH ART QUESTIONS REGARDING THIS INVOICE FIRM TRANSPORTATION DUNS NO:56711344 DR CODE LIST RECEIPTS. DELIVERIES PROD RATES DIA Bo. **VOLUMES** NO. POI NO. DRR No. MD01H TC RC BASE 2 CHICHARDES 2 0130 RET DIN DRY AMOURT.

TOTAL FOR CONTRACT 3608 FOR MORTH OF 05/97.

255,932

\$3,045.57

*** END OF INVOICE 17459 ***

DATE: 10 11-9)

FLORIDA GAS TRANSMISSION COMPANY An EMROM/SORAT Affiliate

06/10/97 06/20/97 CICE NO. 17482 AL AMOUNT DUE \$17,673.18

CUSTOMER: NUI CORPORATION

ATTH: NORERE MAYARRO CITY GAS CO OF FLORIDA 550 BOUTE 202-206 BEDWINISTER. BJ 07921

Please reference this invoice no. on your remittance.

Fage 1

and wire to: Wire Transfer

Florida Gas Transmission Company Bations Bank; Dallas, 12

Account # ASA

TRACT:

5034

SHIPPER: BUI CORPORATION

TYPE: FIRM TRANSPORTATION

CUSTOMER NO: 11470 DURS NO: 56711344

PLEASE CONTACT GWEN LUSTER

AT (713)853-5127 WITH ARY QUESTIONS REGARDING THIS INVOICE

LIPTS	DELIVERIES		PROD				RATES		VOLUMES	
CRA No.	PO1 NO. DR	N Bo.	MOBILH	10	RC	EXZE	SURCHARGES	DISC MET	DIH DRY	AMOURT
Lake Forest	16114	2987	05/97	A	COM	0.0312	(0.0025)	0.0287	15,258	\$437.90
OPA LOCILLA	16116	2989	05/97	A	COM	0.0312	(0.0025)	0.0287	57,399	\$1,647.35
N.W. Hadrah	16117	2999	05/97	A	COM	0.0312	(0.0025)	0.0287	101.717	\$2,919.28
5.E. Malean	16118	3002	05/97	A	COM	0.0312	(0.0025)	0.0287	86,063	\$2,470.01
Wast Miami	16122	3006	05/97	A	COM	0.0312	(0.0025)	0.0287	35,041	\$1,005.68
5. W.	16123	1008	05/97	A	COM	3.0117	(0.0025)	0.078	74,520	\$703.77
SONA MIAMI	16124	20.0	05/97	A	COM	0.0312	(0.0025)	0.078/	33,689	1966.8
cultur hidge	16125	3017	05/97	A	COM	0.0312	(0.0025)	0.0287	16.871	\$484.20
THISME	16177	2973	05/97	A	COM	0.0312	(0.0025)	0.0287	15,532	\$445.7
COCOR	16178	2970	05/97	A	COM	0.0312	(0.0025)	0.0287	31,034	\$890.68
eau Gallie	16179	2968	05/97	A	COM	0.0312	(0.0025)	0.0287	19,827	\$569.0
alelbomae_	16180	2971	05/97	A	COM	0.0312	(0.0025)	0.0287	11,749	\$337.20
7995 Dantow	16192	3204	05/97	A	CON	0.0312	(0.0025)	0.0287	2,249	\$64.5
179851 Generalle-Deachaven	16240	2939	05/97	A	COH	0.0312	(0.0025)	0.0287	3,000	\$86.10
7995 Kissimmer Gen.	16258	3225	05/97	A	COM	0.0312	(0.0025)	0.0287	1,000	\$28.70
7995 Radian Advan - Over	16260	2972	05/97	A	COM	0.0312	(0.0025)	0.0287	1,000	\$28.70
25809 FPL- Machin No.	58912 1	09186	05/97	A	COM	0.0312	(0.0025)	0.0287	3,400	\$97.58
23703 Mr Martin 1/8.	58912 1	09186	05/97	A	COM	0.0312	(0.0025)	0.0287	2,136	\$61.30
716 mar Markin 40.	58912 1	09186	05/97	A	COM	0.0312	(0.0025)	0.0287	15,000	\$430.50
7995 b.A. Maddia All.	58912 1	09186	05/97	A	COM	0.0312	(0.0025)	0.0287	82,279	\$2,361.4
PA- MALTIN NO.	58921 1	09191	05/97	A	COM	0.0312	(0.0025)	0.0287	3,155	\$90.5
c CG- Ridun Arra	60606 1	23376	05/97	A	COM	0.0312	(0.0025)	0.0287	14,553	\$417.6

FLORIDA GAS TRANSMISSION COMPANY An EMBON/SOBAT Affiliate

06/10/97 06/20/97 DICE NO. 17482 AL AMOUNT DUE \$17,673.15

CUSTOMER BUI CORPORATION

ATTR: NORENE BAYARRO CITY GAS CO OF FLORIDA 550 ROUTE 202-206 BEDMINISTER, NJ 07921

Please reference this invoice no. on your remittance and wire to: wire Transfer

Florida Gas Transmission Company Bations Sank; Dallas, TX

Account # ABA

TRACT: 5034

SHIPPER: BUI CORPORATION

TYPE: FIRM TRANSPORTATION

CUSTOMER NO: 11420 NIRS BD - 66211744

PLEASE CONTACT GMEN LUSTER

AT (713)853-5127 WITH ARY QUESTIONS REGARDING THIS INVOICE

MC. DRB No.		DELIVERIES		PROD	525		RATES				VOLUMES.	
*	DRM No.	P01 NO.	DRA Bo.	HONTH	10	RC	BASE	20st HYBER 2	0120	殿下	DTH DRY	AMQUB1
Charge Charge	1995 CPC Button 3		126997	05/97	A	COM	0.0312	(0.0025)		0.0287	2,000	\$57.40
Charge	1995 All Bure Rober Back	nd 61420	153710	05/97	A	COM	0.0312	(0.0025)		0.0287	4,000	\$114.80
Charge	YULO Brack So.	62897	204545	05/97	A	COM	0.0312	(0.0025)		0.0287	15,698	\$450.53
Charge	reas Beach W.	62898	204917	05/97	A	COM	0.0312	(0.0025)		0.0287	3	\$0.05
alia c. at he	city the bonds	62910	211079	05/97	A	COM	0.0312	(0.0025)		0.0287	17,617	\$505.61
				TOTAL FOR	CONTR	ACT 5034	FOR MONTH	OF 05/97.			615,790	\$: ',673.18

*** END OF INVOICE 17482 ***

DATE

FLORIDA GAS TRANSMISSION COMPANY

06/10/97
06/20/97

OTCE NO. 17555
AL ANDURT DUE \$1,761.82

CUSTOMER: BUI CORPORATION

ATTR: NORENE NAVARRO CITY GAS CO OF FLORIDA 550 NOUTE 202-206 BEDMINISTER, NJ 07921 Please reference this invoice no. on your remittance.

and wire to: Wire Transfer

Florida Gas Transmission Company Mations Bank: Dallas, IX

Account #

71,741.0

TRACT:

5364 SHIPPER: BUI (

IPPER: BUI CORPORATION

TYPE: FIRM TRANSPORTATION

CUSTOMER NO: 11420 DUNS NO:56711344

PLEASE CONTACT GUEN LUSTER

AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE OR CLOE LIST

RECEIPTS. DELIVERIES PROD RATES **VOLUMES** NO. DRA Bo PC1 NO. DRN fto MONTH TC RC BASE **SURCHARGES** 0130 BET DIN DRY AMOUBT. age Charge MGS COCONUT CLUEK-161:0 23422 2977 05/97 COM 0.0144 (0.0025)0.0119 840 \$10.00 lage Charge 12740 PCV Cocont CAREX-16110 2977 95/97 CDM 0.0144 (0.0025) 0.0119 5.670 \$67.47 age Charge CHI GOS LAKE - FOREST 16114 2987 05/97 A CDM 0.6144 (0.0025) 0.0119 3,795 \$45.16 age Charge City GGS OPA-LOCKA 16116 2989 05/97 COM 0.0144 (0.0025)0.0119 15.014 \$178.67 age Charge HILLEAH 16117 2999 05/97 COM 0.0144 (0.0025) 0.0119 19,207 \$778.56 age Charge 5E Bi Alcast 16118 3002 05/97 COM 0.0144 (1.900.4) 0.0119 18.832 1.74 0 age Charge WASH MIAM 16122 3006 05/9/ COM 0.0144 (0.0025) 0.0119 8.898 \$105.55 age Charge CGC-SW 16123 3008 05/97 CON 0.0144 (0.0025) 0.0119 6.148 173.16 age Charge MiAMI 16124 3010 05/97 COM 0.0144 0.0075) 0.0119 8.524 2:01.44 age Charge Cutter Ridge 16125 3012 05/97 CON 0.0144 (...0025) 0.0119 4,342 11.07 age Charge Titos ville 10177 2973 05/97 COM 0.0144 (0.0025) 0.0119 3,980 \$47.36 age Charge Cecea 16178 2970 05/97 COM 0.0144 (0.0025) 0.0119 7.941 \$94.50 age Charge EM GODIE ((400) 16179 2968 05/97 COM 0.0144 (0.0025)0.0119 5,027 \$59.82 age Charge Mel bounce 16180 2971 05/97 CON 0.0144 (0.0025)0.0119 3,011 \$35.83 age Charge Jacobson 16192 7995 3204 05/97 CON 0.0144 (0.0025)0.0119 378 \$4.50 age Charge PPL MACHIN BOOM 58912 7995 109186 05/97 A COM 0.0144 (0.0025)0.0119 18,402 \$218.98 age Charge 58921 109191 05/97 CON 0.0144 (0.0025)0.0119 799 \$9.51 age Charge CO - ladian hive 60606 123376 05/97 COM 0.0144 (0.0025)0.0119 3,727 \$44.35 age Charge Kittinge Case Asland 61237 7995 135677 05/97 COM 0.0144 (0.0025)0.0119 785 \$9.34 age Charge Velo Beach 50. 62897 204545 05/97 COM 0.0144 (0.0025) 0.0119 4.316 \$51.36 age Charge 62910 211079 05/97 COM 0.0144 Goulds (0.0025) 0.0119 4.097 \$48.75 age Charge 7995 63052 222204 05/97 COM A 0.0144 (0.3025) 0.0119 6,000 \$71.40

FLORIDA GAS TRANSMISSION COMPANY An ENRON/SORAT Affiliate

Page 2 08/14/97 Please reference this invoice no. on your remittance. and wire to: 06/20/97 CUSTOMER: NUL CORPORATION Wire Transfer ATTN: HORENE BAVARRO Florida Gas Transmission Company DICE NO. 17355 CITY GAS CO OF FLORIDA Nations Bank; Callas, Tx 550 ROUTE 202-206 Account ¢ AL AMOUNT DUE \$1,781.87 BEDMINISTER, NJ 07921 ABA TRACT: 5364 SHIPPER: **BUI CORPORATION** CUSTOMER 10: 11420 PLEASE CONTACT GHEN LUSTER AT (713)053-5127 WITH ARY QUESTIONS REGARDING THIS INVOICE FIRM TRANSPORTATION DURS NO: 56711344 OR CODE LIST RECEIPTS. DELIVERIES PROD RATES DAR Bo. PO1 NO. VOLUMES.

MOBTH

TOTAL FOR CONTRACT 5364 FOR MONTH D' 05/97.

BASE

SURCHARGES

0130

TC RC

149,733 \$1.781.82

AMOUNT

DTH DRY

*** END OF INVOICE 17555 ***

DATE-

BET

10tal 10g 1,021,788 to City Gode

DRM Bo.

FLORIDA GAS TRANSMISSION COMPANY

faxed 6/6/97 RKB7

05/31/97 Please reference this invoice no. on your remittance and wire to: NUL CORPORATION CLISTONE R: 06/10/97 wire Transfer Florida Gas Transmission Company Mations Bank; Dallas, IX ATTH: NORENE MAVARRO CITY GAS CO OF FLOAIDA 17286 550 ROUTE 202-206 Account # BEDMINISTER. NJ 07921 ABA \$139.076.85 AMOUNT DUE CUSTOMER NO: 1:420 SHIPPER: BUI CORPORATION PLEASE CONTACT GWEN LUSTER RACT: AT (713)853-5127 WITH AMY QUESTIONS REGARDING THIS INVOICE DURS NO:56711344 FIRM TRANSPORTATION OR CODE LIST PROD DELIVERIES RATES **VOLUMES** RECEIPTS. HINGH TC RC BASE SURCHARGES PO1 BO. DRN Bo. DISC DIH DRY RET DRM No. AMOUNT SERVATION CHARGE 170,500 05/97 \$139,076.85 A RES 0.8072 0.0085 0.8157 TOTAL FOR CONTRACT 5364 FOR MONTH OF 05/97. 170,500 \$139,076.85

*** END OF INVOICE 17286 ***

DATE: 1.70 Lines

FLORIDA GAS TRANSMISSION COMPANY An Emmon/Sonat Affiliate

Fage I 05/31/97 Please reference this invoice no. on your remittance and wire to: 06/10/97 CUSTOMER: BUI CORPORATION wire Transfer ATTN: NORENE MAYARRO Florida Gas Transmission Company Mations Bank; Dallas, "X CITY GAS CO OF FLORIDA 17219 550 ROUTE 202-206 Account ¢ \$396,569.77 BEDMINISTER, NJ 07921 ABA Ø

RACT: 115-1

I AMDUNT DUE

SHIPPER: NUI CORPORATION

CUSTOMER NO: 11420

PLEASE CONTACT GHEN LUSTER

AT (713)853-5127 WITH ARY QUESTIONS REGARCING THIS INVOICE

F 10-1	TYPE: FIRM TRANSPORTATION		DURS N	0:567113						
RECEIPTS NO. DRM No.	DELIVERIES POI NO. DRM No.	PROD MORTH	10	RC	BXSE	SURCHARGES	DISC	RET	VOLUMES DEV DEV	AMOUNT
SERVATION CHARGE	AN HAL RATE > 29,080 /day	05/97	A	RES	0.4268	0.0085		0.4353	867,380	\$377,570.51
MPORARY REL' NQUISHMENT CREDIT - ACT	STOOLS	05/97	A	RES	0.4268			0.4268	34,100	\$14,553.88
	1 L W/ITAM	. 05/97	A	BRR	0.0831		0.0631	116,250-	\$9,660.38	
	Acq etre 5381, at poi 16124 VGS Cap Rei	05/97	A	TRL	0.1500			0.1500	(17,050)	(\$2,557.50)
MPORARY RELINQUISHMENT CREDIT -	Acq ctrc 5381, at poi 10124 450 Cep 144	05/97	A	TRL	0.1500			0.1500	(17,050)	(\$2,557.50)
		TOTAL FOR	CONTI	MCT 503	4 FOR MONTH	DF 05/97.			983,630	\$396,669.77

*** END OF INVOICE 17219 ***

FLORIDA GAS TRANSMISSION COMPANY

								100000					rage		
05/31/97 06/16/97 CL MD. 17199 AMOUNT DUE \$214,936.95				CUSTOMER:	BUI CORPORATION WITE ATTH: NOREME RAVARRO Flor CITY GAS CO OF FLORIDA RATE						ease reference this invoice no. on your remittance - d wire to: re Transfer orida Gas Transmission Company tions Bank: Dallas. Iz count # A #				
UC1:	F15-2	SHIPPER:	BUI CORPOR			CUSTO D	0: 114	AI	GWEN LUSTE 27 WITH AMY	LUSTER TH ANY QUESTIONS REGARDING THIS INVOICE					
RECEIPTS DELIVERIES NO. DRM No. POI NO. DRM No.				PROD MORTH	10	RC	KYE	RAT		MET	WOLLINES DTH DRY	AMCUBT			
ERVATION CHARGE		8500/do	*			05/97	A	RES	0.8072	0.0085		0.6157	263,500	\$214,936.95	
U						TOTAL FOR	CORTR	AC1 3600	S FOR MOBILE	DF 05/97.			263,500	\$214,936.95	
						*** END OF 18	VUICE	17199 .	••						

Bas